1 ID: CL-EO-6292 Points: 1.00
The governing procedure for placing Residual Heat Removal (RHR) Loop B in SDC (CPS

3312.03, RHR Shutdown Cooling and Fuel Pool Cooling & Assist) requires RHR Pump 1B
Minimum Flow Valve (1E12-F064B) be shut/verified shut and the associated breaker turned off.

What is the reason for performing these actions?

A. To prevent thermal binding of 1E12-F064B.

B. To prevent water hammer of the RHR Loop B.

C. To ensure that Reactor Water inventory is NOT pumped to the suppression
pool.

D. To ensure the RHR Pump 1B discharge piping does NOT inadvertently drain

down via 1E12-F064B.

Answer: C

Answer Justification

C is correct. While operating in the Shutdown Cooling mode, loop flow should be
maintained above 1100 gpm. The minimum flow valves are electrically disabled to the
closed position in this mode to prevent pumping vessel inventory to the suppression
pool through the minimum flow lines. RH Minimum flow protection in shutdown cooling
is assured by stopping an RH pump when loop flow drops below 1100 gpm.

A is incorrect but plausible. The candidate may select this response if he/she
incorrectly believes that thermal binding is likely to occur in any condition other than
shutting 1E12-F064B when hot (> 200°F).

B is incorrect but plausible. The candidate may select this response if he/she
understands that system voids can cause water hammer but is unaware that water
hammer is prevented by verifying the RHR loop full and pressurized before opening all
suction valves between the RPV and the RHR pump.

D is incorrect but plausible. The candidate may select this response if he/she is
unaware that 1E12-F064B is upstream of the discharge check valve and the discharge
check valve will prevent drain down even if 1E12-F064B is open.

General Info

Question Use: Initial
Question Level: RO
Station: Clinton

Cognitive Level: MEMORY



Associated local objective(s):

203000.02 203000.02

DESCRIBE the major flow paths for the

following modes of the RESIDUAL HEAT

REMOVAL System operation.

.1 Shutdown Cooling Mode (both
returning to Feedwater and the Upper
Containment Pools).

2 Suppression Pool Cooling Mode

3 Low Pressure Coolant Injection
Mode

4 Containment Spray Mode

5 Fuel Pool Cooling Assist Mode

.6 Water Leg Pump (Normal, Minimum
Flow, Test).

7 RHR System SDC Flush

KA Data

KA Number |Viewed KA |RO Value SRO Value |[Tier RO SRO
Group |Group

205000.K1.02 K1.02 3.6 3.6 2 1 1

System Name

Shutdown Cooling System (RHR Shutdown Cooling Mode)

Category Statement

Knowledge of the physical connections and/or cause-effect relationships between SHUTDOWN
COOLING SYSTEM (RHR SHUTDOWN COOLING MODE) and the following: (CFR: 41.2t0 41.9/45.7
to 45.8)

KA Statement

Reactor water level

CFR Data
10CFR55-41 (RO) Data

Para Num Text
41.2 41.2
41.3 41.3
414 414
41.5 41.5
41.6 41.6
417 417
41.8 41.8
41.9 41.9

10CFR55-43 (SRO) Data

Para Num Text

NA NA




Other NRC Data

General Data

Technical Reference with Revision Number:

Revision #:
CPS 3312.03 Sect. 8.1.2.17 6¢c

Justification for Non SRO CFR Link:

N/A

Question History: (i.e. LGS NRC-05, OYS CERT-04) CL-EO-6292
Question Source: (i.e. New, Bank, Modified) Bank
Low KA Justification (if required): N/A

Revision History: Revision History: (i.e. Modified
distracter “b” to make plausible based on OTPS review)

Improved answer/distracter justifications, wdk

03/04/2011

ILT
Supplied Ref (If appropriate): (i.e. ABN-##) None
Excluded Reference: (i.e. Ensure ON-## not provided) CPS 3312.03
LORT
PRA: (i.e. Yes or No or #) No
LORT Question Section: (i.e. A-Systems or B- N/

Procedures)




2 ID: CL-LC-0729 Points: 1.00
The plant is at rated power with systems in their normal alignment.

Component Cooling Water (CCW) Pump Discharge pressure is 67 psig and lowering at 1 psig per
minute, due to a leak in the CCW System.

Assuming NO OPERATOR ACTION, which of the following is the NEXT expected plant

response?
A. Scram Valves commence opening.
B. Upper Pool Gate Seals begin to deflate.
C. Control Building Air Ring Header isolates.
D. Standby Service Air Compressor automatically starts.
Answer: D

Answer Justification
D is correct. Loss of CCW will eventually result in the running Service Air (SA)
Compressor tripping on High Air or Oil Temperature. The STANDBY SA Compressor
will automatically start at 80 psig and run until it also trips on High Air or Oll
Temperature.

A, B and C are all plausible but incorrect. In the case of each distracter, the Instrument
Air (IA) pressure for each action to occur is less than or equal to 70 psig. The candidate
may select any of these responses if he/she understands that the running SA
Compressor will trip on High Air or Oil Temperature, but incorrectly believes that any of
these actions will take place prior to or instead of the STANDBY SA Compressor
automatically starting.

General Info

Question Use: Initial
Question Level: RO
Station: Clinton
Cognitive Level: HIGHER

Associated local objective(s):

400001.09 400001.09

DISCUSS the effect:

a. A total loss or malfunction of the
Component Cooling Water System has on
the plant.

b. A total loss or malfunction of various
plant systems has on the Component
Cooling Water System.




KA Data

KA Number

Viewed KA

RO Value

SRO Value

Tier

RO
Group

SRO
Group

400000.K1.02

K1.02

3.2

3.4

System Name

Component Cooling Water System (CCWS)

Category Statement

Knowledge of the physical connections and / or cause-effect relationships between CCWS and the
following: (CFR: 41.2 t0 41.9 / 45.7 t0 45.8)

KA Statement

Loads cooled by CCWS

10CFR55-41 (RO) Data

CFR Data

Para Num Text
41.2 41.2
41.3 41.3
414 414
415 415
41.6 41.6
a41.7 a41.7
41.8 41.8
41.9 41.9

10CFR55-43 (SRO) Data

Para Num Text

NA NA




Other NRC Data

General Data

Technical Reference with Revision Number:

Revision #:
CPS 5041.06 Sect. 5041-6C | 30b

Justification for Non SRO CFR Link:

N/A

Question History: (i.e. LGS NRC-05, OYS CERT-04) CL-LC-0729
Question Source: (i.e. New, Bank, Modified) Bank
Low KA Justification (if required): N/A

Revision History: Revision History: (i.e. Modified
distracter “b” to make plausible based on OTPS
review)

Improved stem/distracter justifications, wdk

03/04/2011

ILT
Supplied Ref (If appropriate): (i.e. ABN-##) None
Excluded Reference: (i.e. Ensure ON-## not provided) | CPS 5041.06
LORT
PRA: (i.e. Yes or No or #) Yes
LORT Question Section: (i.e. A-Systems or B- N/A

Procedures)




3 ID: CL-ILT-12000 Points: 1.00

The High Pressure Core Spray (HPCS) System automatically initiated and injected to the Reactor
Pressure Vessel (RPV). The HPCS System responded as expected when RPV water level
reached Level 8.

Five minutes later, annunciator 5062-4A AUTO TRIP 480V TRANSFORMER BKR alarmed. The
Amber light is ON at the handswitch for 480V TRANSFORMER 1C BKR. Attempts to correct the
cause have been unsuccessful.

RPV water level subsequently lowers below -50 inches.

Which one of the following describes the EXPECTED change in position of the HPCS Injection
Valve (1E22-F004) and HPCS Min Flow Valve (1E22-F012) in response to the above conditions?

1E22-F004 1E22-F012
A. Remains SHUT Remains OPEN
B. Remains SHUT Goes SHUT
C. Goes OPEN Goes SHUT
D. Goes OPEN Remains OPEN
Answer: A

Answer Justification

A'is correct. The annunciator 5062-4A is indicative of a complete loss of Division Il 480
VAC power including the HPCS MCC 1C (1E22-S002). The HPCS Injection Valve
(1E22-F004) and HPCS Min Flow Valve (1E22-F012) are powered from the HPCS MCC
1C. Therefore, even though -45.5 inches RPV Level (Level 2) is a valid signal to OPEN
the HPCS Injection Valve, it remains in the current SHUT position and concurrently, the
HPCS Min Flow Valve remains in the current OPEN position.

B is plausible but incorrect. The candidate may select this response if he/she
recognizes the loss of power will affect the HPCS Injection Valve (1E22-F004) but
incorrectly believes that the HPCS Min Flow Valve (1E22-F012) will respond normally.

C is plausible but incorrect. The candidate may select this response if he/she
incorrectly believes that HPCS Injection Valve (1E22-F004) and HPCS Min Flow Valve
(1E22-F012) are not impacted by the loss of power and the system will operate as
intended.

D is plausible but incorrect. The candidate may select this response if he/she
recognizes the loss of power will affect the HPCS Min Flow Valve (1E22-F012) but
incorrectly believes that the HPCS Injection Valve (1E22-F004) will respond normally.




General Info

Question Use: Initial
Question Level: RO
Station: Clinton
Cognitive Level: HIGHER

Associated local objective(s):

209002.03 209002.03
DESCRIBE the function, operation, interlocks,
trips, physical location, and power supplies of
the following HIGH PRESSURE CORE
SPRAY System components.
.1 RCIC Storage Tank
2 Suction Strainer
3 Pump Suction Valves
4 HPCS Pump
S Water Leg Pump
.6 Minimum Flow Valve
7 Test Return Valves
.8 HPCS to Cntmt Otbd Isol Valve
9 Testable Check Valve
.10 Reactor Vessel Spray Sparger
11 Relief Valves
12 HPCS HVAC System
KA Data
KA Number |Viewed KA |RO Value SRO Value |Tier RO SRO
Group |Group
209002.K2.02 K2.02 2.8 2.9 2 1 1

System Name

High Pressure Core Spray System (HPCS)

Category Statement

Knowledge of electrical power supplies to the following: (CFR: 41.7)

KA Statement

Valve electrical power: BWR-5,6

CFR Data
10CFR55-41 (RO) Data
Para Num Text
a1.7 a1.7

10CFR55-43 (SRO) Data

Para Num

Text

NA

NA




Other NRC Data

General Data

Technical Reference with Revision Number:

CPS 5062.04 Sect. 5062-4A
CPS 3309.01E001 Page 3 of 4

Revision #:
27a
7

Justification for Non SRO CFR Link:

N/A

Question History: (i.e. LGS NRC-05, OYS CERT-04) CL-ILT-12000
Question Source: (i.e. New, Bank, Modified) New
Low KA Justification (if required): N/A

Revision History: Revision History: (i.e. Modified
distracter “b” to make plausible based on OTPS
review)

New guestion, wdk 03/04/2011

ILT
Supplied Ref (If appropriate): (i.e. ABN-##) None
Excluded Reference: (i.e. Ensure ON-## not provided) CPS 5062.04
CPS 3309.01E001
LORT
PRA: (i.e. Yes or No or #) No
LORT Question Section: (i.e. A-Systems or B- N/

Procedures)




ID: CL-ILT-12006 Points: 1.00

Annunciator 5061-1B AUTO TRIP BREAKER (4160V Feeder Breaker) is received in the control
room. You note the following indications:

OC MCC 1B BATTERY 1B FUEL OIL
YOLTAL RENT S

The Div 2 Analog Trip System remains energized because:

A

Answer:

NSPS Solenoid (RPS) Inverter B continues to receive power from its NORMAL
supply.

Div 2 NSPS UPS Static Switch (SS) continues to receive power from its
NORMAL supply.

NSPS Solenoid (RPS) Inverter B has AUTOMATICALLY transferred to and is
receiving power from its BACKUP supply.

Div 2 NSPS UPS Static Switch (SS) has AUTOMATICALLY transferred to and
is receiving power from its ALTERNATE supply.



Answer Justification

B is correct. The NSPS cabinets located in the Main Control Room (MCR) receive 120
VAC from NSPS UPS Power and 120VAC NSPS Solenoid (RPS) Power. Each NSPS
cabinet contains two redundant power supply modules energized by NSPS UPS Power
which in turn provide power to the Analog Trip System. The NORMAL supply to the
Division 2 NSPS UPS is the Division 2 DC Bus (1DC14E). The ALTERNATE supply to
the Division 2 NSPS UPS is the CB MCC F2 (0AP55EB) which is in turn supplied by the
480 V Bus B. The Static Switch (SS) will remain selected to and continue to receive
power from its NORMAL supply.

A is plausible but incorrect. The candidate may select this response if he/she
recognizes that neither NSPS Solenoid (RPS) UPS is affected by the malfunction but
incorrectly believes that the Analog Trip System is energized via a NSPS Solenoid
(RPS) UPS.

C is plausible but incorrect. The candidate may select this response if he/she
incorrectly believes that that either NSPS Solenoid (RPS) UPS is affected by the
malfunction and also believes that the Analog Trip System is energized via a NSPS
Solenoid (RPS) UPS.

D is plausible but incorrect. The candidate may select this response if he/she
recognizes that the Analog Trip System is energized via the Division 2 NSPS UPS but
incorrectly believes that the NORMAL supply is the CB MCC F2 (OAP55EB) while the
ALTERNATE supply is the Division 2 DC Bus (1DC14E).

General Info

Question Use: Initial
Question Level: RO
Station: Clinton
Cognitive Level: HIGHER

Associated local objective(s):

[700004.09

DISCUSS the effect:

a.

b.

A total loss or malfunction of the
NSPS System has on the plant.

A total loss or malfunction of various
plant systems has on the NSPS




KA Data

KA Number |Viewed KA |RO Value SRO Value |Tier RO SRO
Group |Group
212000.K2.02 K2.02 2.7 2.9 2 1 1
System Name
Reactor Protection System
Category Statement
Knowledge of electrical power supplies to the following: (CFR: 41.7)
KA Statement
Analog trip system logic cabinets
CFR Data
10CFR55-41 (RO) Data
Para Num Text
41.7 41.7
10CFR55-43 (SRO) Data
Para Num Text
NA NA
Other NRC Data
General Data
Technical Reference with Revision Number: Revision #:
CPS 3509.01 20b
CPS 5061.01 Sect. 5061-1B 28c
E02-1AP03 Sh 001 AB
Justification for Non SRO CFR Link: N/A
Question History: (i.e. LGS NRC-05, OYS CERT-04) CL-ILT-12006
Question Source: (i.e. New, Bank, Modified) New
Low KA Justification (if required): N/A

Revision History: Revision History: (i.e. Modified
distracter “b” to make plausible based on OTPS review)

New guestion, wdk 03/08/2011

ILT
Supplied Ref (If appropriate): (i.e. ABN-##) None
Excluded Reference: (i.e. Ensure ON-## not provided) CPS 3509.01
CPS 5061.01
E02-1RP99 Sh. 102
LORT
PRA: (i.e. Yes or No or #) No
LORT Question Section: (i.e. A-Systems or B- N/

Procedures)




5 ID: CL-ILT-12001 Points: 1.00
A DBA LOCA occurs from rated power.

LPCS fails to run.

What effect does the LPCS failure have on RPV water level and adequate core cooling?

RPV Water Level Adequate Core Cooling
A. will remain < TAF is NOT assured
B. will remain < TAF is assured
C. will recover > TAF is assured ONLY if LPCS restored
D. will recover > TAF is assured
Answer: D

Answer Justification

D is correct. The ECCS network is designed to have built in redundancy so that
adequate (core) cooling can be provided, even in the event of specified failures. One
such failure is that of the LPCS Emergency D/G which takes the LPCS and LPCI "A"
systems out of service. With these conditions during a DBA LOCA, a short period of
uncovery is expected due to the relatively high capacity of the ECCS makeup systems.

A is incorrect but plausible. The candidate may select this response if he/she
incorrectly believes that the RPV water level will remain < TAF based on the given plant
conditions nor will adequate core cooling be assured.

B is incorrect but plausible. For specific circumstances (such as RPV water level can
not be restored and maintained > TAF following a blowdown in EOP-1A) the RPV water
level could remain < TAF and adequate core cooling would be assured by Steam
Cooling. This question asks about a situation where redundant systems would recover
RPV water level > TAF. The candidate may select this response if he/she realizes that
adequate core cooling will be assured but incorrectly believes that the conditions
presented result on a reliance of Steam Cooling to assure adequate core cooling when
in fact level will recover > TAF based on the loss of a single redundant system (LPCS).

C is incorrect but plausible. The candidate may select this response if he/she believes
that RPV water level will recover > TAF ONLY if LPCS is restored. Since LPCS is one
of the assumed single active failures, the ECCS network has the built-in redundancy to
provide adequate core cooling (via submergence) in the event of a loss of the LPCS

system. Therefore, RPV water level will recover to > TAF even if LPCS is not restored.

General Info

Question Use: Initial
Question Level: RO
Station: Clinton

Cognitive Level: MEMORY



Associated local objective(s):

209001.09 209001.09
DISCUSS the effect:
1. A total loss or malfunction of the
LPCS System has on the plant.
2. A total loss or malfunction of
various plant systems has on the
LPCS System.
KA Data
KA Number |Viewed KA |RO Value SRO Value |Tier RO SRO
Group |Group
209001.K3.01 K3.01 3.8 3.9 2 1 1

System Name

Low Pressure Core Spray System

Category Statement

Knowledge of the effect that a loss or malfunction of the LOW PRESSURE CORE SPRAY SYSTEM will
have on following: (CFR: 41.7 / 45.4)

KA Statement

Reactor water level

CFR Data
10CFR55-41 (RO) Data
Para Num Text
417 417

10CFR55-43 (SRO) Data

Para Num

Text

NA

NA




Other NRC Data

General Data

Technical Reference with Revision Number: Revision #:
UFSAR Chapter 06 11
TS Bases

Justification for Non SRO CFR Link: N/A

Question History: (i.e. LGS NRC-05, OYS CERT-04) CL-ILT-12001

Question Source: (i.e. New, Bank, Modified) New

Low KA Justification (if required): N/A

Revision History: Revision History: (i.e. Modified
distracter “b” to make plausible based on OTPS review)

New guestion, wdk 03/07/2011

ILT
Supplied Ref (If appropriate): (i.e. ABN-##) None
Excluded Reference: (i.e. Ensure ON-## not provided) UFSAR Chapter 06
TS Bases
LORT
PRA: (i.e. Yes or No or #) Yes
LORT Question Section: (i.e. A-Systems or B- N/A

Procedures)




6 ID: CL-ILT-635471 Points: 1.00
While operating at 90% power, a rupture of the TURBINE BUILDING INSTRUMENT AIR Header

occurred. All automatic actions occurred as designed.

With NO OPERATOR ACTION, the INSTRUMENT AIR Header rupture in the TURBINE
BUILDING will cause . . .

A. multiple control rod drive drift alarms.

B. automatic, continuous operation of the Screen Wash System on high AP.

C. the Standby Liquid Control System storage tank level indication to fail high.

D. the Turbine Oil Cooler Temperature Regulating Valve (1WS026) to fail closed.
Answer: A

Answer Justification

A'is correct. The Turbine Building Instrument Air (IA) Header does not have automatic
isolation valves. A leak in this header will result in a loss of air to the Containment and
the RPS air headers. As the RPS air header depressurizes the scram pilot valves will

randomly fail open depending on air header location and spring pressure.

B is incorrect. Screen wash bubblers will stop functioning. The automatic Traveling
Screen start on high AP will not function. Upon a loss of air, the Screen Wash System
must manually be placed into operation IAW CPS 3210.01, Screen Wash (SW). The
candidate may select this response if he/she incorrectly believes that the loss of air
pressure to the bubblers will initiate a high AP start of the Traveling Screens.

Cis incorrect. The Standby Liquid Control System storage tank level indication will fail
low until air pressure is restored. The candidate may select this response if he/she
incorrectly believes that the loss of air pressure will cause tank level to indicate high.

D is incorrect. The Turbine Oil Cooler Temperature Regulating Valve (1WS026) fails
open maximizing coolant flow through the Turbine oil cooler. The candidate may select
this response if he/she incorrectly believes that the Regulating Valve (1WS026) fails
close on loss of air such as WS079A (B, C) which are Plant Chilled Water System
valves.

High Cognitive Level — Question meets the “High Cog” criteria because the multiple
control rod drift alarms do not annunciate directly due to the rupture of the Turbine
Building (TB) IA header but rather, it annunciates based on a chain of events caused by
the loss of TB IA. The candidate must first recognize that Containment IA is directly
affected by the loss of TB IA as the TB IA header supplies the Containment IA header
and there is no isolation between them. Next, the candidate must then realize that the
effect of this condition is to cause the RPS air header to depressurize as it is supplied
by Containment IA. The candidate must then interpret the effect to the control rods
themselves as random scram pilot valves begin to open as the pilot valve spring
pressure overcomes the degrading RPS air header pressure. Finally, the candidate
must recognize that the criteria to meet the ROD DRIFT annunciator to actuate (odd
reed switch and no drive signal) can in fact be satisfied by the this set of conditions.




General Info

Question Use: Initial
Question Level: RO
Station: Clinton
Cognitive Level: HIGHER

Associated local objective(s):

300000.16 300000.16

EVALUATE the following Service and

Instrument Air indications/responses and

DETERMINE if the indication/ response is

expected and normal.

1 Closure of Containment Instrument
Air Header Isolation Valves

KA Data

KA Number |Viewed KA |RO Value SRO Value |[Tier RO SRO
Group |Group

300000.K3.01 K3.01 2.7 2.9 2 1 1

System Name

Instrument Air System (IAS)

Category Statement

Knowledge of the effect that a loss or malfunctionofthe . .................. ... (INSTRUMENT AIR
SYSTEM) will have on the following: (CFR: 41.7 / 45.6)

KA Statement

Containment air system

CFR Data
10CFR55-41 (RO) Data

Para Num Text

41.7 41.7

10CFR55-43 (SRO) Data

Para Num Text

NA NA




Other NRC Data

General Data

Technical Reference with Revision Number: Revision #:
CPS 4004.01 Sect. 2.2.1 9e

Justification for Non SRO CFR Link: N/A

Question History: (i.e. LGS NRC-05, OYS CERT-04) CL-ILT-635471

Question Source: (i.e. New, Bank, Modified) Bank

Low KA Justification (if required): N/A

Revision History: Revision History: (i.e. Modified
distracter “b” to make plausible based on OTPS review)

Improved distracter/distracter justifications,

wdk 03/06/2011

ILT
Supplied Ref (If appropriate): (i.e. ABN-##) None
Excluded Reference: (i.e. Ensure ON-## not provided) CPS 4004.01
LORT
PRA: (i.e. Yes or No or #) Yes
LORT Question Section: (i.e. A-Systems or B- N/A

Procedures)




7 ID: CL-ILT-12039 Points: 1.00
The Standby Liquid Control (SLC) System Storage Tank Mixing Heater Switch (1C41A-S2) is
currently in the AUTO position. In this position, the (1) heater cycles to maintain SLC
Tank Temperature 75°F to 85°F to prevent (2) .

A. (1) Mixing
(2) precipitation of sodium pentaborate from solution

B. (1) Mixing
(2) excessive loss of tank inventory due to evaporation

C. (1) Operating
(2) precipitation of sodium pentaborate from solution

D. (1) Operating
(2) excessive loss of tank inventory due to evaporation

Answer: C

Answer Justification

C is correct. The Operating Heater (D002) is rated at 10 kW and is used to maintain
tank temperature between 75°F and 85°F during normal operation to prevent the
chemical from precipitating (coming out of solution).

A'is incorrect but plausible. The candidate may select this response if he/she realizes
that the SLC Tank Temperature is maintained between 75°F and 85°F to prevent
precipitation of sodium pentaborate from solution but incorrectly believe that the Mixing
heater cycles to maintain SLC Tank Temperature when the SLC System Storage Tank
Mixing Heater Switch (1C41A-S2) is in the AUTO position.

B is incorrect but plausible. The candidate may select this response if he/she
incorrectly believes that the Mixing heater cycles to maintain SLC Tank Temperature
when the SLC System Storage Tank Mixing Heater Switch (1C41A-S2) is in the AUTO
position and that the reason why the SLC Tank Temperature is maintained between
75°F and 85°F is to prevent inventory loss. Although the mechanism of evaporation is
accelerated as temperature is elevated, this would not be a reason for raising the
temperature of the tank above ambient.

D is incorrect but plausible. The candidate may select this response if he/she realizes
that the Mixing heater cycles to maintain SLC Tank Temperature when the SLC System
Storage Tank Mixing Heater Switch (1C41A-S2) is in the AUTO position but incorrectly
believe that the reason why the SLC Tank Temperature is maintained between 75°F
and 85°F is to prevent inventory loss. Although the mechanism of evaporation is
accelerated as temperature is elevated, this would not be a reason for raising the
temperature of the tank above ambient.

General Info

Question Use: Initial
Question Level: RO
Station: Clinton

Cognitive Level: MEMORY



Associated local objective(s):

211000.03 211000.03

DESCRIBE the function, operation, interlocks,
trips, and power supplies of the following
STANDBY LIQUID CONTROL System

components.

.1 SLC Storage Tank

2 SLC Storage Tank Heaters

3 SLC Pumps

4 Squib Valves

5 SLC Test Tank

.6 Neutron Absorption Solution

KA Data

KA Number |Viewed KA |RO Value SRO Value |[Tier RO SRO
Group |Group

211000.K4.03 K4.03 3.8 3.9 2 1 1

System Name

Standby Liquid Control System

Category Statement

Knowledge of STANDBY LIQUID CONTROL SYSTEM design feature(s) and/or interlocks which provide
for the following: (CFR: 41.7)

KA Statement

Keeping sodium pentaborate in solution

CFR Data
10CFR55-41 (RO) Data

Para Num Text

41.7 41.7

10CFR55-43 (SRO) Data

Para Num Text

NA NA




Other NRC Data

General Data

Technical Reference with Revision Number: Revision #:
N-CL-OPS-211000 Sect. IV.B | 1
N-CL-OPS-211000 Sect. VI.B | 1
CPS3314.01E001Page 3 of 5 | 9a
E02-1SC99 Sheet 1, 3, 503 H.N, E

Justification for Non SRO CFR Link: N/A

Question History: (i.e. LGS NRC-05, OYS CERT-04) CL-1LT-120039

Question Source: (i.e. New, Bank, Modified) New

Low KA Justification (if required): N/A

Revision History: Revision History: (i.e. Modified
distracter “b” to make plausible based on OTPS review)

New guestion, wdk 03/29/2011

ILT

Supplied Ref (If appropriate): (i.e. ABN-##)

None

Excluded Reference: (i.e. Ensure ON-## not provided)

N-CL-OPS-211000

CPS3314.01E001Page 3 of 5
E02-1SC99 Sheet 1, 3, 503

LORT

PRA: (i.e. Yes or No or #)

LORT Question Section: (i.e. A-Systems or B-
Procedures)

=5




8 ID: CL-ILT-5898 Points: 1.00
A plant transient has occurred and current plant conditions are as follows:

— An automatic MSIV closure has occurred due to high main steam line flow.

— Reactor Water Level is =50 inches and rising at 3 inches per minute.

— Reactor pressure is 950 psig and being controlled by Safety Relief Valves (SRVs).

— Both ADS Instrument Air Header Pressure indicators on P601 read 148 psig and are
slowly lowering.

— Annunciator 5040-6F, HIGH/LOW PRESS ADS IA SUPPLY DIV 1 OR 2 is alarming.

From these indications what could be the possible cause of the annunciator?

A. Compressed Gas Outboard Isolation Valves (11A012A & 13A) automatically
closed on Group 1, and 11A012B & 013B failed to open.

B. Compressed Gas Outboard Isolation Valves (11A012A & 13A) automatically
closed on Group 8, and 11A012B & 013B failed to open.

C. ADS Supply Header Inboard Isolation Valves (11A012B & 13B) automatically
closed on Group 1, and 1IA012A & 013A failed to open.

D. ADS Supply Header Inboard Isolation Valves (11A012B & 13B) automatically
closed on Group 8, and 1IA012A & 013A failed to open.

Answer: D

Answer Justification

D is correct. 11A012B (Div 1) & 11A013B (Div 2) supply the air amplifier output to the
ADS and LLS SRVs. They automatically close on a Group 8 isolation signal (RPV Level
Low -45.5"). 1IA012A (Div 1) & 1IA013A (Div 2) makes available an alternate source of
air from either the ADS Backup Air Bottles of an outside air connection. With their
respective hand switches in AUTO, 11A012A/13A will automatically open when
11A012B/13B is fully closed.

A is incorrect but plausible. The candidate may select this response if he/she
incorrectly believes that 11A012A/13A supply the air amplifier output to the ADS and
LLS SRVs, that they automatically close on a Group 1 isolation signal (MSL Flow High
279 psid) and 1I1A012B/13B provide the alternate source of air.

B is incorrect but plausible. The candidate may select this response if he/she
recognizes Group 8 isolation signal but incorrectly believes that 11A012A/13A supply the
air amplifier output to the ADS and LLS SRVs and 11A012B/13B provides the alternate
source of air.

C is incorrect but plausible. The candidate may select this response if he/she
recognizes that 11A012B/13B supply the air amplifier output to the ADS and LLS SRVs
and 11A012A/13A provide an alternate source of air but incorrectly believes that
11A012B/13B automatically close on a Group 1 isolation signal.




General Info

Question Use: Initial
Question Level: RO
Station: Clinton
Cognitive Level: HIGHER

Associated local objective(s):

300000.06 300000.06
Given a Service and Instrument Air System
Annunciator, DESCRIBE:

a.  The condition causing the annunciator
b.  Any automatic actions
c.  Any operational implications

KA Data

KA Number |Viewed KA |RO Value SRO Value |[Tier RO SRO
Group |Group

218000.K4.04 K4.04 3.5 3.6 2 1 1

System Name

Automatic Depressurization System

Category Statement

Knowledge of AUTOMATIC DEPRESSURIZATION SYSTEM design feature(s) and/or interlocks which
provide for the following: (CFR: 41.7)

KA Statement

Insures adequate air supply to ADS valves: Plant-Specific

CFR Data
10CFR55-41 (RO) Data

Para Num Text

41.7 41.7

10CFR55-43 (SRO) Data

Para Num Text

NA NA




Other NRC Data

General Data

Technical Reference with Revision Number:

Revision #:
CPS 4001.02 C001 15b
CPS 5040.06 Sect. 5040-6F 28b

Justification for Non SRO CFR Link:

N/A

Question History: (i.e. LGS NRC-05, OYS CERT-04) CL-ILT-5898
Question Source: (i.e. New, Bank, Modified) Bank
Low KA Justification (if required): N/A

Revision History: Revision History: (i.e. Modified
distracter “b” to make plausible based on OTPS review)

Improved explanation/distracter justification,

wdk 03/06/2011

ILT
Supplied Ref (If appropriate): (i.e. ABN-##) None
Excluded Reference: (i.e. Ensure ON-## not provided) CPS 4001.02 C001
CPS 5040.06
LORT
PRA: (i.e. Yes or No or #) Yes
LORT Question Section: (i.e. A-Systems or B- N/A

Procedures)
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PLANT CONDITIONS:

The Reactor Mode Switch is in STARTUP/HOT STANDBY.

All IRMs are selected to range 5.

Reactor power is midscale on range 5 of the Intermediate Range Monitors (IRMs).
Source Range Monitor (SRM) "B" is failed upscale and is bypassed.

From the following, choose the ONE statement that describes an operating condition that will
cause the Rod Control and Information System (RC&IS) to generate a rod block.

A. The SRM channel "A" indicates 7 E4 cps and its detector is fully inserted.

B. The SRM channel "C" indicates 150 cps and its detector is partially withdrawn.

C. The IRM channel "B" indicated 30/125 scale and its detector is fully inserted.

D. The IRM channel "F" indicated 8/125 scale and its detector is partially
withdrawn.

Answer: D

Answer Justification

D is correct. A Rod Withdrawal Block is generated if a non-bypassed IRM is upscale,
inop, downscale and when a detector is not full in unless the Reactor Mode switch is in
RUN. Based on the given plant conditions, the IRM Detector Not Full In will generate a
Rod Withdrawal Block.

A is incorrect but plausible. The candidate may select this response if he/she
incorrectly believes that a Rod Withdrawal Block is generated based on the given plant
conditions. The condition that the candidate may be considering is SRM Channel
Upscale at 1 E5 cps. This condition is not met.

B is incorrect but plausible. The candidate may select this response if he/she
incorrectly believes that a Rod Withdrawal Block is generated based on the given plant
conditions. The condition that the candidate may be considering is SRM Detector Not
Full In and <100 cps. This condition is not met.

C is incorrect but plausible. The candidate may select this response if he/she
incorrectly believes that a Rod Withdrawal Block is generated based on the given plant
conditions. The condition that the candidate may be considering is IRM Channel
Downscale at 5/125 full scale. This condition is not met.

General Info

Question Use: Initial
Question Level: RO
Station: Clinton
Cognitive Level: HIGHER



Associated local objective(s):

215003.05

215003.05

Discuss the IRM system automatic

functions/interlocks including purpose, signals,

set points, sensing points, when bypassed,

how/when they are.

.1 Scrams

.2 Control Rod Withdrawal Blocks

KA Data

KA Number

Viewed KA

RO Value

SRO Value

Tier

RO
Group

SRO
Group

215003.K5.03

K5.03

3.0

3.1

System Name

Intermediate Range Monitor (IRM) System

Category Statement

Knowledge of the operational implications of the following concepts as they apply to INTERMEDIATE
RANGE MONITOR (IRM) SYSTEM : (CFR: 41.5/ 45.3)

KA Statement

Changing detector position

CFR Data
10CFR55-41 (RO) Data
Para Num Text
41.5 41.5

10CFR55-43 (SRO) Data

Para Num

Text

NA

NA




Other NRC Data

General Data

Technical Reference with Revision Number: Revision #:
CPS 3304.02 Sect. 8.2.8 18a

Justification for Non SRO CFR Link: N/A

Question History: (i.e. LGS NRC-05, OYS CERT-04) CL-ILT-1461

Question Source: (i.e. New, Bank, Modified) Bank

Low KA Justification (if required): N/A

Revision History: Revision History: (i.e. Modified
distracter “b” to make plausible based on OTPS review)

Improved stem/distracter justifications, wdk

03/07/2011

ILT
Supplied Ref (If appropriate): (i.e. ABN-##) None
Excluded Reference: (i.e. Ensure ON-## not provided) CPS 3304.02
LORT
PRA: (i.e. Yes or No or #) No
LORT Question Section: (i.e. A-Systems or B- N/

Procedures)
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ID: CL-ILT-2403 Points: 1.00

The plant has commenced a startup following a maintenance period in which an SRM detector
was replaced.

Under which of the following conditions would that Source Range Monitor (SRM) REACTOR
PERIOD indication be considered INVALID?

When the new SRM detector...

A. Full IN light is lit.

B. is being withdrawn from the core.

C. Full OUT light is lit.

D. has been partially inserted into the core.